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Instructions to the candidates:

1) Q.No.1 and Q.No. 6 are compulsory.
2) Solve any 3 (three) questions from the remaining question Nos. 2, 3, 4 and 5.
3) Figures to the right indicate full marks.
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Q1) a) Fill in the blanks. (any 5) : [5]
i) Transfer of value is a ________function of money.

(primary, secondary, contingent, other)
ii) According to the classical view of demand, money is demanded as

a________
(medium of exchange, store of value, transfer of value, universal
acceptability)

iii) Trade Cycle has ________ Phases.
(Two, Three, Four, Five)

iv) The Income and Expenditure of ________ is studied in Public
Finance.
(people, institution, farmers, government)

v) The taxes are a ________ payment.
(optional, compulsory, punitive, illegal)

vi) Inflation is a state in which the value of money________
(decreases, increases, stabilizes, changes)

b) Match the following pairs. [5]
Group ‘A’ Group ‘B’

i) Multiple Credit Creation a) Constant Economic Growth
ii) Contraction of Total Supply b) Dr. Marshal
iii) Cash Balance Approach c) Increase Cash Reserve Ratio
iv) Tight Monetary Policy d) Stagflation
v) Public Expenditure and Debt e) Commercial Banks
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Q2) Explain the process of multiple credit creation of commercial banks. [15]

Q3) What is Inflation? Explain the causes of Inflation. [15]

Q4) What is Trade Cycle? State the characteristics of Trade Cycle. [15]

Q5) What is Public Expenditure? State the causes of increasing Public Expenditure.
[15]

Q6) Write Short Notes on (Any Three) : [15]
a) Progressive Tax
b) Cost Push Inflation
c) Recovery or Revival Stage of Trade Cycle
d) Public Finance: Meaning and Definitions.
e) Balance Budget
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(_amR>r ê$nm§Va)
doi : 2½ Vmg]                      [EHy$U JwU : 70
gyMZm : 1) àíZ H«$‘m§H$ 1 Am{U àíZ H«$‘m§H$ 6 A{Zdm¶© AmhoV.

2) Cd©[aV àíZ H«$‘m§H$ 2, 3, 4 Am{U 5 n¡H$s H$moUVohr VrZ gmoS>dm.

3) COdrH$S>rb A§H$ àíZm§Mo nyU© JwU Xe©{dVmV.

4) g§X^m©gmR>r ‘wi B§J«Or àíZn{ÌH$m nmhmdr.
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àíZ 1) A) [aH$må`m OmJm ^am. (H$moUË`mhr nmM) [5]

i) ‘yë¶ g§H«$‘U ho n¡emMo ............... H$m¶© Amho.

(àmW{‘H$, Xþæ¶‘, AmZwf§{JH$, BVa)

ii) n¡emÀ¶m ‘mJUr{df¶rÀ¶m gZmVZ Ñ{ï>H$moZmZwgma, n¡emMr ‘mJUr hr .............
åhUyZ Ho$br OmVo.

({d{Z‘¶ ‘mÜ¶‘, ‘yë¶ g§MZ, ‘yë¶ g§H«$‘U, gmd©{ÌH$ ñdrH$m¶©Vm)

iii) ì¶mnmaMH«$mÀ¶m ............ AdñWm AgVmV.

(XmoZ, VrZ, Mma, nmM)

iv) gmd©O{ZH$ Am¶ì¶¶m‘Ü¶o ................ CËnÞ Am{U IMm©Mm Aä¶mg Ho$bm OmVmo.

(ì¶³VrÀ¶m, g§ñWm§À¶m, eoVH$è¶m§À¶m, gaH$maÀ¶m)

v) H$a ho .................. XoUo AgVo.

(EopÀN>H$, gº$sMo, X§S>mË‘H$, ~oH$m¶Xoera>)

vi) MbZ{dñVma hr Aer AdñWm Amho H$s, Á¶m‘Ü¶o n¡emMo ‘yë¶ ...............
(KQ>Vo, dmT>Vo, pñWa amhVo, ~XbVo)
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~) `mo½` OmoSçm bmdm. [5]

JQ> "A' JQ> "~'

i) ~hþJw{UV nV{Z{‘©Vr A) pñWa Am{W©H$ d¥ÕrXa

ii) EHy$U nwadR>¶mMm g§H$moM ~) S>m°. ‘me©b

iii) amoI {e„H$ Ñ{ï>H$moZ H$) amoI amIrd {Z{YÀ¶m à‘mUmV dmT>

iv) VoOrÀ¶m H$mimVrb MbZ{df¶H$ YmoaU S>) ‘§Xr¶wº$ MbZdmT>

v) gmd©O{ZH$ IM© Am{U H$O© B) ì¶mnmar ~±H$m

àíZ 2) ì¶mnmar ~±H$m§Mr ~hþJw{UV nV{Z{‘©VrMr à{H«$¶m ñnï> H$am. [15]

àíZ 3) MbZdmT> åhUOo H$m¶? MbZdmT>rMo H$maUo ñnï> H$am. [15]

àíZ 4) ì¶mnmaMH«o$ åhUOo H$m¶? ì¶mnmaMH«$mMr d¡{eï>o ñnï> H$am. [15]

àíZ 5) gmd©O{ZH$ IM© åhUOo H$m¶? gmd©O{ZH$ IM© dmT>rMr H$maUo gm§Jm. [15]

àíZ 6) Q>rnm {bhm (H$moUË¶mhr VrZ) [15]

A) àJ{Verb H$a/nwamoJm‘r H$a

~) IM©Xm~{Z{‘©V MbZ{dñVma

H$) ì¶mnmaMH«$mMr C{O©VmdñWm qH$dm nwZé‚mrdZ

S>) gmd©O{ZH$ Am¶ì¶¶: AW© Am{U ì¶m»¶m

B) g§Vw{bV qH$dm g‘Vmob AW©g§H$ën
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